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UG/3rd Sem/G/20(CBCS)

2020

BOTANY (General)
Paper : BOTG-DC-3(A3)/GE-3(A3)

(CBCS)

Full Marks : 25 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

1. Answer any five questions of the following : 1×5=5

(i) Define the term apical dominance.

(ii) What is cuticle?

(iii) What is anomocytic stomata?

(iv) What is elaiosome?

(v) Define Micropyle.

(vi) Give the definition of annual ring.

(vii) Name one hydrophytic plant.

(viii) What is entomophily?

2. Answer any four of the following : 3×4=12

(i) What is vascular cambium? Mention its function.

(ii) Briefly discuss the adaptations in hydrophytes.

(iii) What is endosperm? Write down its functions.

(iv) Distinguish between Heartwood and Sapwood.

(v) Write down the applications of Polyembryony.
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(vi) Write down the structure of a mature embryo sac with labelled diagram.

3. Answer any one of the following : 8×1=8

(i) What is ovule? Describe with labelled diagram the different types of
ovule.

(ii) Explain the internal structure of dicot and monocot stem with suitable
diagram.

îDy %̃îy”

1. öë ö„þy˜ þ™¤y‰þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 1×5=5

(i) ~!þ™„þyœ vþ!›öì̃ ª „þyöì„þ îöìœÚ

(ii) !„þvþz!Ýþöì„þœéôé~îû ¢‚Kþy öœ…Ð

(iii) xÄy!˜öì›y¢y£z!Ýþ„þ öÜTy›yÝþy „þyöì„þ îöìœÚ

(iv) Elaiosome !„þÚ

(v) ›y£zöìe«yþ™y£zœ „þyöì„þ îöìœÚ

(vi) î¡ìÅîœëû xíîy annual ringéôé~îû ¢‚Kþy öœ…Ð

(vii) ~„þ!Ýþ ‹œ‹ vþz!qöì”îû vþz”y£îû’ ”yçÐ

(viii) ~öìrÝþyöì›y!šþ!œ îœöì“þ !„þ öîyGþyëûÚ

2. öë ö„þy˜ ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 3×4=12

(i) ¦þyßþ%ñœyîû „þÄy!Áºëûy› „þyöì„þ îöìœÚ ~îû „þyëÅ„þy!îû“þy vþzöìÍÔ… „þîûÐ

(ii) ‹œ‹ vþz!qöì”îû x!¦þöìëy‹˜ ¢Á™öì„Åþ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þîûÐ

(iii) ~öìuþyßþ™y›Å !„þÚ ~îû „þyëÅ„þy!îû“þy öœ…Ð

(iv) £yÝÅþ vþzvþ ~î‚ ¢Äyþ™ vþzvþéôé~îû ›öì•Ä þ™yíÅ„þÄ öœ…Ð

(v) þ™!œ~ÁºÉyëû!˜éôé~îû vþzþ™öìëy!†“þy ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ

(vi) ~„þ!Ýþ þ™)’ÅyD ¼&öì’îû !‰þeyBþ˜ „þöìîû “þyîû †àþ˜ î’Å̃ y „þîûÐ
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3. öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 8×1=8

(i) !vþÁº„þ „þyöì„þ îöìœÚ !î!¦þ§¬ ²Ì„þyöìîûîû !vþÁºöì„þîû !‰þeyBþ˜ „þöìîû “þyîû †àþ˜ î’Å̃ y „þîûÐ

(ii) vþzþ™ë%_« !‰þe¢£ ~„þî#‹þ™e# ~î‚ !mî#‹þ™e# „þyöì[þîû xy¦þÄhsþîû#’ †àþ˜ î’Å̃ y „þîûÐ

—————


